M6 FEEE8ME
KIRGEEHRERHER (BWE)

1. EEE

2. BEEIG

3. FAMEEXR

4. FEBRE

5. ABE#HRY)

6. HERRA
(1)EBABRF
(2) A5
(3) HIAF i

(4) A FHH

7. sR#ENE
(1) JEH B
(2) Jm i35
(3) JE i Ft

8. BRFEHA
(1)EBABRF
(2) EHIA ST
(3) HIAF i

(4) A FHH

EFREEMEE

EFREMTAKRMKETRIAF 1 —2

9. ERE
(1) B 118228 (£) 983050 ~
(2) 57 KR 535 R OB [ 5% 55 15

10. HEKRE

(1) B F1BERVELIBEDRILH
8304 ~ 9B 15%

(2) 57 KRR &5 HEREE

11. BESHE JRDEBY

12. FERZ

12A28-9H| 1 2 3 4 5 6 7 8 9 10 | 1 12

KR #ES
SHEEEFEREMHAEAE F8EKRHRE
=P/ J=i=! EH | FImERERZ
%£1H 12A2H )= 10:50
%£2H 12A3H X 11:20
$£3H 12A4H 7K 11:20
F4H 12A9H )= 10:50
%58 128108 X 11:20
$£6H 128118 7K 11:20
11820H (7K)
118178 (B) 9FF~12FF
KRR B IS

DOHERAE QFXEHKIT
Q)% s

@DIRAD B EED HHT-BILIRAFKITD
i E RS

1BEIZDE200M

11A17H
KR H15
OFLEREHE QAR R EFAE
(DR HBm 1% S B AL
@E > EFREE

(B) 9oBF~12F%

118178
KRR &S
OEAFERAE QBFREFL
HEH. YEEECICEBFRER AN
FESNTNDEIZDONTIX., YD
BRBETICRIFIIZFIRETHIL,

1 AIZDZ200M

(B) 9EF~12FF

EEATES10:00/10:30/11:00/11:35/12:10|12:45|13:20| 13:55| 14:30| 15:05| 15:40| 16:15

HiE 10:50/11:20|11:50{12:25/13:00|13:35|14:10|14:45/15:2015:55|16:30|17:05

12838-108| 1 2 3 4 5 6 7 8 9 10 | 11

EEATES10:30/11:0011:35/12:10|12:45|13:20| 13:55| 14:30| 15:05| 15:40| 16:15

HiE 11:20/11:50{12:25/13:00|13:35(14:10|14:45|15:20|15:55/16:30|17:05

12848-118| 1 2 3 4 5 6 7 8 9 10 | 11

EEATES10:30/11:00/11:30/12:05]12:40|13:15|13:50| 14:25| 15:00| 15:35|16:10

H*iE 11:20/11:50{12:20/ 12:55/13:30(14:05|14:40|15:15|15:50|16:25|17:00

13. EE RIS ATILERE
Akl

14. ZTDith

(1)C2#kI%. 1FAfE2HE

(Q)EEBERV2EDHELE EMERATRIGE

(B)ZHDHFEHICHARIN TOWVENWEEIHFHFEREERVREEBREIZLD
(A)REEOZHBIE. (—H)EFEEFEEZELTITVET, FHREZFITOVLTIE,
(—#) BEFEEERITERVAEHELLESLY,
B)REBOXZKBICH->TIIAKRAREL. BHEHRESD

(6)EBHICKY. COBHMICEHRINTWSER - HFLUFIIOVLWT. EFET S
HEENHBYET,

15. EE-HAlEE

REAR—YHE L4

1 HEE®E H3TLYFRIELULE

2 BIEEE 4%l E57kg. 35%55ke. $L B 2kgi

RRAR—VHEHE
BNTHRE
FENGEZARE

R VAGE Y

) ad—NLTooavx—XI)—XFE 18

1 HEE®R YSTLYRRB2HRUT

2 BAEEE 56kg. ttHE2keiH

3 ElE AIXIN—VE
HESBEERE

X I\—5%F

G d—LTooavF—X1)—XE28

1 HEE®K YSTLYFRBIRUT

2 AEEE 56kg. ttE2kelH

3 ®@lE FIXIN—HE
RENFEZERE

AFTEL—REHE
IWATE LIMITED
2T

B FE 45 A1l

R4




fMeEE HEeE KIREE BIEHE

(841 FM)
1f. fifl VA 7 7 > R ER
Wi FEER I H Hi
X 4 > AR B1#k B2#} C2#k 2
Bk E S - B @ 1,600 @ 1,600 @ 1,600 @ 1,400 ® 1,600 @ 850 ,300 @ 1,300 ® 1,300 @ 1,300 D 1,300 ® 1,600 12 R
Z 7 %00 750 — T 180 750 750 400 — -+ -+ —[I71 % 2,500
1 ® o~ 315m 263 & 5 L 263 — 263 263 M0n B + £ - £ = £ | ﬁ F 875
12828 %;J % . 180 # 150 # & %J + . 150 # 150 150 g0 # % M % M 1 oM g % T g & 500 16, 020
(B) & 21 | 17 98 = S 98 98 98 52 = = = = |, E g a1 35
B X 63 53 B X 53 53 53 28 D z | 175
Bk E S - B @D 1,600 @ 1,600 400 ® 1,600 @ 1,600 300 ® 1,300 @ 1,300 @D 850 ® ® 1,400 —ERE 11 R
750 — 750 550 — 400 — — 400 900 800
2 E = 263 = & 263 = 18 = 140 x & £ 4% 140 Bl 315 B2 280
12838 #8150 M % 150 #0110 8 % 80 M % M % 80 #% 180  #& 160 11, 645
() & ] = ] 72 = 52 = = 52 17 104
53 53 39 28 28 63 56
Bk E s - B @D 1,600 @ 850 ® 1,600 @ 1,600 ® 1,600 400 ® 1,400 @ 1,400 D 1,400 ® 1,400 ® 1,400 11 R
750 750 550 — — 400 — — — 700 —
3 ® — 263 263 m 193 &5 -3 140 = & = # m Cl — 245¢C1 = %
1248 150 150 110 4 % 80 M 1 M & M ®A 140 R B 4% 10, 770
(7K) & ] ] 72 = = 52 = = = 91 =
53 53 39 28 49
BkEE s - B 1,600 @ 1,600 @ 1,600 @ 1,400 ® 1,400 1,300 @ 1,300 @ 1,300 @ 1,300 @ 1,300 @ 1,300 ® 1,300 12 R
= 3, 500 — + 450 450 400 — -+ - + - 600 —
4 g - x 1,225 = A & = 158 158 1402 # + # - # = C2— 21002 = &
12A98 Yo 700 # o | 9 90 g0 @ M @ M ;M g ®AE 120 A B 14, 881
(B) & - =& 455 - 59 59 52 4 3 ® 3 78 -
= 245 32 32 28 42
Bk - B i) @ 1,600 —iEHE © 1,400 400 @ 1,400 ® 1,600 ® 1,600 1,400 @ 1,400 @ 1,400 @ 850 11 R
1,250 1,150 + - + - 450 — 400 — — 400
5 H Mo a3l = 403 - # - #& = 158 i& i 4M0x B t #& 140
128108 Pe o omogm 23 B o | o o8 g8 # g oM 80 10, 948
() & ] 163 5 150 = = 59 = 52 = = 52
88 81 32 28 28
A - B a 850 @ 1,600 @ 1,600 ® 1,400 @ 1,400 ® 1,400 & 1,400 @ 1,400 @ 1,400 @ 1,400 11 R
% 1,250 — 450 — — 400 — — —
6 = n 438 - F £t 1880 §&E & - M4M0= # = # m &
12A11H ¥ 250 2 % M  90#M g # g0 M| i 8 B B & 9,723
k) | Lo 163 S 5 = S 52 =B 3 S
3 88 32 28
A ST 2 i i 17.5 H % 5 |
HIE T2 BT 105 105 105 105 75 200] 150] 105
EEEED 8,314 4,203 10, 773 8,762 18, 200 11, 900 62, 152
AT A E 123 35 193
HE TS A 2,163 2,163 9, 408 8, 820 19,110 10, 650 69, 797




